

THE INTEGER SEQUENCE a_n AND ITS RELATIONSHIP WITH PELL, PELL–LUCAS AND BALANCING NUMBERS

Arzu Akın and Ahmet Tekcan

(Bursa, Turkiye)

Communicated by Bui Minh Phong

(Received October 19, 2016; accepted August 5, 2017)

Abstract. In this work we deduce some algebraic relations on integer sequence a_n and its relationship with Pell, Pell–Lucas and balancing numbers. Further we formulate the eigenvalues and spectral norm of the circulant matrix of a_n numbers.

1. Preliminaries

Let p and q be two non-zero integers and let $d = p^2 - 4q \neq 0$ (to exclude a degenerate case). We set the sequences U_n and V_n to be

$$\begin{aligned}U_n &= U_n(p, q) = pU_{n-1} - qU_{n-2} \\V_n &= V_n(p, q) = pV_{n-1} - qV_{n-2}\end{aligned}$$

for $n \geq 2$ with $U_0 = 0, U_1 = 1, V_0 = 2, V_1 = p$. The characteristic equation of them is $x^2 - px + q = 0$ and hence the roots are $\alpha = \frac{p+\sqrt{d}}{2}$ and $\beta = \frac{p-\sqrt{d}}{2}$. Their Binet formulas are $U_n = \frac{\alpha^n - \beta^n}{\alpha - \beta}$ and $V_n = \alpha^n + \beta^n$. Note

Key words and phrases: Balancing numbers, Pell numbers, Pell–Lucas numbers, sums, perfect squares, circulant matrices and spectral norms.

2010 Mathematics Subject Classification: 05A19, 11B37, 11B39.

that $U_n(1, -1) = F_n$ Fibonacci numbers (A000045 in OEIS), $V_n(1, -1) = L_n$ Lucas numbers (A000032 in OEIS), $U_n(2, -1) = P_n$ Pell numbers (A000129 in OEIS) and $V_n(2, -1) = Q_n$ Pell–Lucas numbers (A002203 in OEIS) (for further details see [2, 5, 6, 7, 12]).

Recently, balancing numbers have been defined by Behera and Panda in [1]. A positive integer n is called a balancing number if the Diophantine equation

$$(1.1) \quad 1 + 2 + \cdots + (n-1) = (n+1) + (n+2) + \cdots + (n+r)$$

holds for some positive integer r which is called cobalancing number (or balancer). From (1.1) one has $\frac{(n-1)n}{2} = rn + \frac{r(r+1)}{2}$ and so

$$(1.2) \quad r = \frac{-(2n+1) + \sqrt{8n^2+1}}{2} \quad \text{and} \quad n = \frac{2r+1 + \sqrt{8r^2+8r+1}}{2}.$$

Let B_n denote the n^{th} balancing number, and let b_n denote the n^{th} cobalancing number. Then from (1.2) we see that B_n is a balancing number iff $8B_n^2 + 1$ is a perfect square, and b_n is a cobalancing number iff $8b_n^2 + 8b_n + 1$ is a perfect square. So $C_n = \sqrt{8B_n^2 + 1}$ and $c_n = \sqrt{8b_n^2 + 8b_n + 1}$ are integers called the n^{th} Lucas–balancing and n^{th} Lucas–cobalancing number, respectively. Binet formulas for all balancing numbers are $B_n = \frac{\alpha^{2n} - \beta^{2n}}{4\sqrt{2}}$, $b_n = \frac{\alpha^{2n-1} - \beta^{2n-1}}{4\sqrt{2}} - \frac{1}{2}$, $C_n = \frac{\alpha^{2n} + \beta^{2n}}{2}$ and $c_n = \frac{\alpha^{2n-1} + \beta^{2n-1}}{2}$, where $\alpha = 1 + \sqrt{2}$ and $\beta = 1 - \sqrt{2}$ which are the roots of the characteristic equation of Pell numbers (for further details see [8, 9, 10, 11]).

2. Main results

In [13], Santana and Diaz–Barrero set a sequence

$$(2.1) \quad a_n = P_{2n} + P_{2n+1}$$

in order to determine the sum of first $4n + 1$ nonzero terms of Pell numbers. They proved that $a_{n+1} = 6a_n - a_{n-1}$ for $n \geq 1$, where $a_0 = 1, a_1 = 7$. Since $P_n = \frac{\alpha^n - \beta^n}{\alpha - \beta}$ for $\alpha = 1 + \sqrt{2}$ and $\beta = 1 - \sqrt{2}$, the Binet formula for a_n numbers is

$$(2.2) \quad a_n = \frac{\alpha^{2n+1} + \beta^{2n+1}}{2}$$

for $n \geq 0$. For the sums of a_n numbers, we can give the following result.

Theorem 2.1. Let a_n denote the n^{th} number. Then

$$\begin{aligned}\sum_{i=0}^n a_i &= \frac{a_{n+1} - a_n - 2}{4} \text{ for } n \geq 1, \\ \sum_{i=1}^n a_{2i-1} &= \frac{33a_{2n-1} - a_{2n-3} - 8}{32} \text{ for } n \geq 2, \\ \sum_{i=0}^n a_{2i} &= \frac{33a_{2n} - a_{2n-2} - 8}{32} \text{ for } n \geq 1.\end{aligned}$$

Proof. Since $a_n = \frac{\alpha^{2n+1} + \beta^{2n+1}}{2}$, we easily get

$$\begin{aligned}\sum_{i=0}^n a_i &= a_0 + a_1 + \cdots + a_n = \\ &= \frac{\alpha + \beta}{2} + \frac{\alpha^3 + \beta^3}{2} + \cdots + \frac{\alpha^{2n+1} + \beta^{2n+1}}{2} = \\ &= \frac{\alpha^{2n+2} + \beta^{2n+2} - 2}{4} = \\ &= \frac{\frac{\alpha^{2n+1}[2(1+\sqrt{2})] + \beta^{2n+1}[2(1-\sqrt{2})]}{2} - 2}{4} = \\ &= \frac{\frac{\alpha^{2n+1}(\alpha^2 - 1) + \beta^{2n+1}(\beta^2 - 1)}{2} - 2}{4} = \\ &= \frac{\frac{\alpha^{2n+3} + \beta^{2n+3}}{2} - \frac{\alpha^{2n+1} + \beta^{2n+1}}{2} - 2}{4} = \\ &= \frac{a_{n+1} - a_n - 2}{4}.\end{aligned}$$

The others can be proved similarly. ■

For the relationship with Pell, Pell–Lucas and balancing numbers, we can give the following result.

Theorem 2.2. Let a_n denote the n^{th} number. Then for $n \geq 1$, we have

1. The sum of $(n+1)^{\text{st}}$ and n^{th} balancing numbers is equal to the n^{th} a_n number, that is,

$$B_{n+1} + B_n = a_n.$$

2. The half of the difference of $(n+2)^{\text{nd}}$ and n^{th} cobalancing numbers is equal to the n^{th} a_n number, that is,

$$\frac{b_{n+2} - b_n}{2} = a_n.$$

3. The half of the difference of $(n+1)^{\text{st}}$ and n^{th} Lucas-balancing numbers is equal to the n^{th} a_n number, that is,

$$\frac{C_{n+1} - C_n}{2} = a_n.$$

4. The $(n+1)^{\text{st}}$ Lucas-cobalancing number is equal to the n^{th} a_n number, that is,

$$c_{n+1} = a_n.$$

5. The half of $(2n+1)^{\text{st}}$ Pell-Lucas number is equal to the n^{th} a_n number, that is,

$$\frac{Q_{2n+1}}{2} = a_n.$$

Proof. 1. Since $B_n = \frac{\alpha^{2n} - \beta^{2n}}{4\sqrt{2}}$, we easily get

$$\begin{aligned} B_{n+1} + B_n &= \frac{\alpha^{2n+2} - \beta^{2n+2}}{4\sqrt{2}} + \frac{\alpha^{2n} - \beta^{2n}}{4\sqrt{2}} = \\ &= \frac{\alpha^{2n}(\alpha^2 + 1) + \beta^{2n}(-\beta^2 - 1)}{4\sqrt{2}} = \\ &= \frac{\alpha^{2n}(1 + \sqrt{2}) + \beta^{2n}(1 - \sqrt{2})}{2} = \\ &= \frac{\alpha^{2n+1} + \beta^{2n+1}}{2} = \\ &= a_n \end{aligned}$$

since $\alpha^2 + 1 = 2\sqrt{2}(1 + \sqrt{2})$ and $-\beta^2 - 1 = 2\sqrt{2}(1 - \sqrt{2})$.

The other cases can be proved similarly. ■

We have already $P_{2n} + P_{2n+1} = a_n$ by (2.1). Also we can give the following theorem.

Theorem 2.3. *Let a_n denote the n^{th} number. Then for $n \geq 0$,*

1. The sum of $(2n+1)^{\text{st}}$ balancing and cobalancing numbers is a perfect square and is

$$B_{2n+1} + b_{2n+1} = a_n^2.$$

2. The sum of $(2n+1)^{\text{st}}$ Lucas-balancing and Lucas-cobalancing numbers is equal to product of four times of n^{th} a_n number and $(2n+1)^{\text{st}}$ Pell number, that is,

$$C_{2n+1} + c_{2n+1} = 4a_n P_{2n+1}.$$

Proof. 1. Recall that $B_n = \frac{\alpha^{2n} - \beta^{2n}}{4\sqrt{2}}$ and $b_n = \frac{\alpha^{2n-1} - \beta^{2n-1}}{4\sqrt{2}} - \frac{1}{2}$. So

$$\begin{aligned} B_{2n+1} + b_{2n+1} &= \frac{\alpha^{4n+2} - \beta^{4n+2}}{4\sqrt{2}} + \frac{\alpha^{4n+1} - \beta^{4n+1}}{4\sqrt{2}} - \frac{1}{2} = \\ &= \frac{\alpha^{4n}(\alpha^2 + \alpha) - \beta^{4n}(\beta^2 + \beta) - 2\sqrt{2}}{4\sqrt{2}} = \\ &= \frac{\alpha^{4n+2} + 2(\alpha\beta)^{2n+1} + \beta^{4n+2}}{4} = \\ &= \left(\frac{\alpha^{2n+1} + \beta^{2n+1}}{2} \right)^2 = \\ &= a_n^2 \end{aligned}$$

since $\alpha\beta = -1$.

The other case can be proved similarly. ■

Panda and Ray ([10]) considered the sums of Pell numbers and proved that the sum of first $2n - 1$ Pell numbers is equal to the sum of n^{th} balancing number and its balancer, that is,

$$\sum_{i=1}^{2n-1} P_i = B_n + b_n.$$

Later Gözeri, Özkoç and Tekcan ([4]) proved that the sum of Pell–Lucas numbers from 0 to $2n - 1$ is equal to the sum of n^{th} Lucas–balancing and Lucas–cobalancing number, that is,

$$\sum_{i=0}^{2n-1} Q_i = C_n + c_n.$$

Similarly, we can give the following result.

Theorem 2.4. *Let a_n denote the n^{th} number.*

1. *The sum of a_n numbers from 0 to n is equal to sum of the $(n+1)^{\text{st}}$ balancing number and its balancer, that is,*

$$\sum_{i=0}^n a_i = B_{n+1} + b_{n+1}.$$

2. *The sum of even a_n numbers from 1 to n is equal to the product of $(n+1)^{\text{st}}$ a_n number and n^{th} balancing number, that is,*

$$\sum_{i=1}^n a_{2i} = a_{n+1} B_n.$$

3. The sum of odd a_n numbers from 1 to n is equal to the product of n^{th} a_n number and n^{th} balancing number, that is,

$$\sum_{i=1}^n a_{2i-1} = a_n B_n.$$

4. The sum of even a_n numbers from 1 to $2n+1$ is equal to the product of n^{th} and $(2n+2)^{\text{nd}}$ a_n numbers and $(2n+1)^{\text{st}}$ Pell number, that is,

$$\sum_{i=1}^{2n+1} a_{2i} = a_n a_{2n+2} P_{2n+1}.$$

5. The sum of odd a_n numbers from 1 to $2n+1$ is equal to the product of n^{th} and $(2n+1)^{\text{st}}$ a_n numbers and $(2n+1)^{\text{st}}$ Pell number, that is,

$$\sum_{i=1}^{2n+1} a_{2i-1} = a_n a_{2n+1} P_{2n+1}.$$

6. The sum of odd balancing numbers from 0 to $2n$ is equal to the product of $(2n+1)^{\text{st}}$ Pell number, n^{th} a_n number and $(2n+1)^{\text{st}}$ balancing number, that is,

$$\sum_{i=0}^{2n} B_{2i+1} = P_{2n+1} a_n B_{2n+1}.$$

7. The sum of even balancing numbers from 1 to $2n$ is equal to the product of two times of n^{th} a_n number, n^{th} balancing number, n^{th} Lucas-balancing number and $(2n+1)^{\text{st}}$ Pell number, that is,

$$\sum_{i=1}^{2n} B_{2i} = 2a_n B_n C_n P_{2n+1}.$$

8. The sum of even Pell numbers from 1 to $2n$ is equal to the product of two times of n^{th} balancing and n^{th} a_n number, that is,

$$\sum_{i=1}^{2n} P_{2i} = 2B_n a_n.$$

9. The sum of odd Pell numbers from 0 to $2n$ is equal to the product of $(2n+1)^{\text{st}}$ Pell number and n^{th} a_n number, that is,

$$\sum_{i=0}^{2n} P_{2i+1} = P_{2n+1} a_n.$$

10. The sum of Pell–Lucas numbers from 0 to $2n$ is equal to the quotient of two times of $(2n + 1)^{st}$ balancing number by the n^{th} a_n number, that is,

$$\sum_{i=0}^{2n} Q_i = \frac{2B_{2n+1}}{a_n}.$$

11. The sum of even Pell–Lucas numbers from 0 to $2n$ is equal to the product of n^{th} a_n number and the difference of n^{th} and $(n - 1)^{st}$ a_n numbers, that is,

$$\sum_{i=0}^{2n} Q_{2i} = a_n(a_n - a_{n-1}).$$

Proof. 1. Since $a_0 + a_1 + \dots + a_n = \frac{a_{n+1} - a_n - 2}{4}$ by Theorem 2.1, we easily get

$$\begin{aligned} \sum_{i=0}^n a_i &= \frac{a_{n+1} - a_n - 2}{4} = \\ &= \frac{\frac{\alpha^{2n+3} + \beta^{2n+3}}{2} - \frac{\alpha^{2n+1} + \beta^{2n+1}}{2} - 2}{4} = \\ &= \frac{\alpha^{2n+1}(\alpha^2 - 1) + \beta^{2n+1}(\beta^2 - 1)}{8} - \frac{1}{2} = \\ &= \frac{\alpha^{2n+1}(1 + \sqrt{2}) + \beta^{2n+1}(1 - \sqrt{2})}{4} - \frac{1}{2} = \\ &= \frac{\alpha^{2n+2}(1 + \alpha^{-1}) + \beta^{2n+2}(-1 - \beta^{-1})}{4\sqrt{2}} - \frac{1}{2} = \\ &= \frac{\alpha^{2n+2} - \beta^{2n+2}}{4\sqrt{2}} + \frac{\alpha^{2n+1} - \beta^{2n+1}}{4\sqrt{2}} - \frac{1}{2} = \\ &= B_{n+1} + b_{n+1} \end{aligned}$$

as we claimed.

The other cases can be proved similarly. ■

For the perfect squares, we can give the following result.

Theorem 2.5. Let a_n denote the n^{th} a_n number. Then

1. $1 + 8B_{n+1}^2$ is a perfect square and is $\sqrt{1 + 8B_{n+1}^2} = 2a_n + C_n$.

2. $P_{2n+1}^2 + P_{2n}P_{2n+2}$ is a perfect square and is $\sqrt{P_{2n+1}^2 + P_{2n}P_{2n+2}} = a_n$.

3. $B_{2n+1}^2 + 4a_n^2 B_n B_{n+1}$ is a perfect square and is $\sqrt{B_{2n+1}^2 + 4a_n^2 B_n B_{n+1}} = a_n^2$.

Proof. 1. Applying Binet formulas, we get

$$\begin{aligned} \sqrt{1 + 8B_{n+1}^2} &= \sqrt{1 + 8 \left(\frac{\alpha^{2n+2} - \beta^{2n+2}}{4\sqrt{2}} \right)^2} = \\ &= \sqrt{\frac{\alpha^{4n+4} + \beta^{4n+4} + 2}{2}} = \\ &= \frac{\alpha^{2n+2} + \beta^{2n+2}}{2} = \\ &= \frac{\alpha^{2n}(2\alpha + 1) + \beta^{2n}(2\beta + 1)}{2} = \\ &= 2 \left(\frac{\alpha^{2n+1} + \beta^{2n+1}}{2} \right) + \frac{\alpha^{2n} + \beta^{2n}}{2} = \\ &= 2a_n + C_n \end{aligned}$$

since $2\alpha + 1 = \alpha^2$ and $2\beta + 1 = \beta^2$. The other cases can be proved similarly. ■

In [13], Santana and Diaz-Barrero proved that the sum of first nonzero $4n + 1$ terms of Pell numbers is a perfect square and is

$$\sum_{i=1}^{4n+1} P_i = \left(\sum_{i=0}^n \binom{2n+1}{2i} 2^i \right)^2.$$

In fact, this sum is equals to a_n^2 , that is,

$$\sum_{i=1}^{4n+1} P_i = a_n^2.$$

Tekcan and Tayat ([14]) proved that the sum of first nonzero $2n + 1$ terms of Pell numbers is

$$\sum_{i=1}^{2n+1} P_i = \begin{cases} \left(\frac{\alpha^{n+1} + \beta^{n+1}}{2} \right)^2, & \text{for even } n \geq 0 \\ \frac{\left(\frac{\alpha^{n+1} - \beta^{n+1}}{\sqrt{2}} \right)^2}{2}, & \text{for odd } n \geq 1 \end{cases}$$

where $\alpha = 1 + \sqrt{2}$ and $\beta = 1 - \sqrt{2}$. By considering this result, they set two integer sequences $X_n = \frac{\alpha^{n+1} + \beta^{n+1}}{2}$ and $Y_n = \frac{\alpha^{n+1} - \beta^{n+1}}{\sqrt{2}}$ and proved that the sum of first nonzero $4n + 1$ terms of Pell numbers is

$$\sum_{i=1}^{4n+1} P_i = (2X_n^2 - 2X_n Y_{n-1} + (-1)^{n+1})^2.$$

Similarly we can give the following result.

Theorem 2.6. Let a_n denote the n^{th} a_n number. Then

1. The sum of a_n numbers from 0 to $2n$ is a perfect square and is

$$\sum_{i=0}^{2n} a_i = a_n^2$$

for $n \geq 1$.

2. The half of the sum of odd Pell–Lucas numbers from 0 to $2n$ is a perfect square and is

$$\frac{\sum_{i=0}^{2n} Q_{2i+1}}{2} = a_n^2$$

for $n \geq 1$.

3. The sum of a_n numbers from 1 to n and adding 2 is a perfect square and is

$$2 + \sum_{i=1}^n a_i = C_{\frac{n+1}{2}}^2$$

for odd $n \geq 1$, or the sum of a_n numbers from 1 to n and adding 1 is a perfect square and is

$$1 + \sum_{i=1}^n a_i = c_{\frac{n+2}{2}}^2$$

for even $n \geq 2$.

Proof. 1. Since $a_0 + a_1 + \cdots + a_n = \frac{a_{n+1} - a_n - 2}{4}$, we deduce that

$$\begin{aligned} \sum_{i=0}^{2n} a_i &= \frac{a_{2n+1} - a_{2n} - 2}{4} = \frac{\frac{\alpha^{4n+3} + \beta^{4n+3}}{2} - \frac{\alpha^{4n+1} + \beta^{4n+1}}{2} - 2}{4} = \\ &= \frac{\frac{\alpha^{4n+1}(\alpha^2 - 1) + \beta^{4n+1}(\beta^2 - 1)}{2} - 2}{4} = \frac{\alpha^{4n+1}(1 + \sqrt{2}) + \beta^{4n+1}(1 - \sqrt{2}) - 2}{4} = \\ &= \frac{\alpha^{4n+2} + \beta^{4n+2} - 2}{4} = \frac{\alpha^{4n+2} + 2(\alpha\beta)^{2n+1} + \beta^{4n+2}}{4} = \\ &= \left(\frac{\alpha^{2n+1} + \beta^{2n+1}}{2} \right)^2 = \\ &= a_n^2. \end{aligned}$$

The other cases can be proved similarly. ■

A circulant matrix (see [3]) is a matrix M defined as

$$M = \begin{bmatrix} m_0 & m_1 & m_2 & \cdots & m_{n-2} & m_{n-1} \\ m_{n-1} & m_0 & m_1 & \cdots & m_{n-3} & m_{n-2} \\ m_{n-2} & m_{n-1} & m_0 & \cdots & m_{n-4} & m_{n-3} \\ \cdot & \cdot & \cdot & \cdots & \cdot & \cdot \\ \cdot & \cdot & \cdot & \cdots & \cdot & \cdot \\ \cdot & \cdot & \cdot & \cdots & \cdot & \cdot \\ m_2 & m_3 & m_4 & \cdots & m_0 & m_1 \\ m_1 & m_2 & m_3 & \cdots & m_{n-1} & m_0 \end{bmatrix},$$

where m_i are constant. In this case, the eigenvalues of M are

$$(2.3) \quad \lambda_j(M) = \sum_{u=0}^{n-1} m_u w^{-ju},$$

where $w = e^{\frac{2\pi i}{n}}$, $i = \sqrt{-1}$ and $j = 0, 1, \dots, n-1$. The spectral norm of a matrix $Q = [q_{ij}]_{n \times n}$ is defined to be

$$\|Q\|_{spec} = \max_{0 \leq j \leq n-1} \{\sqrt{\lambda_j}\},$$

where λ_j are the eigenvalues of Q^*Q and Q^* denotes the conjugate transpose of Q .

Theorem 2.7. *Let a denote the circulant matrix of a_n numbers. Then*

1. *The eigenvalues of a are*

$$\lambda_j(a) = \frac{(a_{n-1} + 1)w^{-j} + 1 - a_n}{w^{-2j} - 6w^{-j} + 1}$$

for $j = 0, 1, 2, \dots, n-1$.

2. *The spectral norm of a is*

$$\|a\|_{spec} = \frac{a_n - a_{n-1} - 2}{4}.$$

Proof. 1. Applying (2.3), we deduce that

$$\begin{aligned}
 \lambda_j(a) &= \sum_{u=0}^{n-1} a_u w^{-ju} = \\
 &= \sum_{u=0}^{n-1} \left(\frac{\alpha^{2u+1} + \beta^{2u+1}}{2} \right) w^{-ju} = \\
 &= \frac{1}{2} \left[\alpha \sum_{u=0}^{n-1} (\alpha^2 w^{-j})^u + \beta \sum_{u=0}^{n-1} (\beta^2 w^{-j})^u \right] = \\
 &= \frac{1}{2} \left[\alpha \frac{\alpha^{2n} - 1}{\alpha^2 w^{-j} - 1} + \beta \frac{\beta^{2n} - 1}{\beta^2 w^{-j} - 1} \right] = \\
 &= \frac{1}{2} \left[\frac{(\alpha^{2n+1} - \alpha)(\beta^2 w^{-j} - 1) + (\beta^{2n+1} - \beta)(\alpha^2 w^{-j} - 1)}{(\alpha^2 w^{-j} - 1)(\beta^2 w^{-j} - 1)} \right] = \\
 &= \frac{w^{-j} \left[(\alpha\beta)^2 \left(\frac{\alpha^{2n-1} + \beta^{2n-1}}{2} \right) + \frac{-\alpha\beta^2 - \beta\alpha^2}{2} \right] + \frac{\alpha+\beta}{2} - \frac{\alpha^{2n+1} + \beta^{2n+1}}{2}}{w^{-2j} - 6w^{-j} + 1} = \\
 &= \frac{(a_{n-1} + 1)w^{-j} + 1 - a_n}{w^{-2j} - 6w^{-j} + 1}
 \end{aligned}$$

since $\alpha\beta = -1$, $\frac{-\alpha\beta^2 - \beta\alpha^2}{2} = 1$ and $\frac{\alpha+\beta}{2} = 1$.

2. For the circulant matrix

$$a = \begin{bmatrix} a_0 & a_1 & a_2 & \cdots & a_{n-2} & a_{n-1} \\ a_{n-1} & a_0 & a_1 & \cdots & a_{n-3} & a_{n-2} \\ \cdot & \cdot & \cdot & \cdots & \cdot & \cdot \\ \cdot & \cdot & \cdot & \cdots & \cdot & \cdot \\ \cdot & \cdot & \cdot & \cdots & \cdot & \cdot \\ a_2 & a_3 & a_4 & \cdots & a_0 & a_1 \\ a_1 & a_2 & a_3 & \cdots & a_{n-1} & a_0 \end{bmatrix},$$

for a_n numbers, we have

$$(a)^* a = \begin{bmatrix} a_{11} & a_{12} & \cdots & a_{1(n-1)} & a_{1n} \\ a_{21} & a_{22} & \cdots & a_{2(n-1)} & a_{2n} \\ \cdot & \cdot & \cdots & \cdot & \cdot \\ \cdot & \cdot & \cdots & \cdot & \cdot \\ \cdot & \cdot & \cdots & \cdot & \cdot \\ a_{(n-1)1} & a_{(n-1)2} & \cdots & a_{(n-1)(n-1)} & a_{(n-1)n} \\ a_{n1} & a_{n2} & \cdots & a_{n(n-1)} & a_{nn} \end{bmatrix},$$

where

$$\begin{aligned}
 a_{11} &= a_0^2 + a_{n-1}^2 + \cdots + a_2^2 + a_1^2, \\
 a_{12} &= a_0a_1 + a_{n-1}a_0 + \cdots + a_2a_3 + a_1a_2, \\
 &\vdots \\
 a_{1(n-1)} &= a_0a_{n-2} + a_{n-1}a_{n-3} + \cdots + a_2a_0 + a_1a_{n-1}, \\
 a_{1n} &= a_0a_{n-1} + a_{n-1}a_{n-2} + \cdots + a_2a_1 + a_1a_0, \\
 a_{21} &= a_1a_0 + a_0a_{n-1} + \cdots + a_3a_2 + a_2a_1, \\
 a_{22} &= a_1^2 + a_0^2 + \cdots + a_3^2 + a_2^2, \\
 &\vdots \\
 a_{2(n-1)} &= a_1a_{n-2} + a_0a_{n-3} + \cdots + a_3a_0 + a_2a_{n-1} \\
 a_{2n} &= a_1a_{n-1} + a_0a_{n-2} + \cdots + a_3a_1 + a_2a_0, \\
 &\vdots \\
 a_{n1} &= a_{n-1}a_0 + a_{n-2}a_{n-1} + \cdots + a_1a_2 + a_0a_1, \\
 a_{n2} &= a_{n-1}a_1 + a_{n-2}a_0 + \cdots + a_1a_3 + a_0a_2, \\
 &\vdots \\
 a_{n(n-1)} &= a_{n-1}a_{n-2} + a_{n-2}a_{n-3} + \cdots + a_1a_0 + a_0a_{n-1}, \\
 a_{nn} &= a_{n-1}^2 + a_{n-2}^2 + \cdots + a_1^2 + a_0^2.
 \end{aligned}$$

The eigenvalues of a^*a are $\lambda_0, \lambda_1, \dots, \lambda_{n-1}$. Here λ_0 is maximum and is

$$\begin{aligned}
 \lambda_0 &= a_0^2 + a_1^2 + \cdots + a_{n-2}^2 + a_{n-1}^2 + \\
 &+ 2 \begin{bmatrix} a_0(a_1 + a_2 + \cdots + a_{n-2} + a_{n-1}) + \\ \quad \quad \quad + a_1(a_2 + \cdots + a_{n-2} + a_{n-1}) + \\ \quad \quad \quad \quad \quad \quad + \cdots + \\ \quad \quad \quad \quad \quad \quad \quad \quad \quad + a_{n-2}a_{n-1} \end{bmatrix} = \\
 &= (a_0 + a_1 + \cdots + a_{n-1})^2.
 \end{aligned}$$

Thus the spectral norm of a is hence $\|a\|_{spec} = \sqrt{\lambda_0} = a_0 + a_1 + \cdots + a_{n-1}$. So the result is clear from Theorem 2.1. \blacksquare

Example 2.8. Let $n = 5$. Then the circulant matrix is

$$a = \begin{bmatrix} 1 & 7 & 41 & 239 & 1393 \\ 1393 & 1 & 7 & 41 & 239 \\ 239 & 1393 & 1 & 7 & 41 \\ 41 & 239 & 1393 & 1 & 7 \\ 7 & 41 & 239 & 1393 & 1 \end{bmatrix}.$$

The eigenvalues of

$$a^*a = \begin{bmatrix} 1999301 & 344413 & 68817 & 68817 & 344413 \\ 344413 & 1999301 & 344413 & 68817 & 68817 \\ 68817 & 344413 & 1999301 & 344413 & 68817 \\ 68817 & 68817 & 344413 & 1999301 & 344413 \\ 344413 & 68817 & 68817 & 344413 & 1999301 \end{bmatrix}$$

are $\lambda_0 = 2825761$, $\lambda_1 = 1792686 + 137798\sqrt{5}$, $\lambda_2 = 1792686 - 137798\sqrt{5}$, $\lambda_3 = \lambda_1$ and $\lambda_4 = \lambda_2$. So the spectral norm of a is $\|a\|_{spec} = \sqrt{\lambda_0} = 1681$. On the other hand $\frac{a_5 - a_4 - 2}{4} = 1681$.

From Theorem 2.7, we can give the following result.

Corollary 2.1. *The spectral norm of a is*

$$\|a\|_{spec} = \begin{cases} (\sqrt{2}P_n)^2, & \text{for even } n \geq 2 \\ (a_{\frac{n-1}{2}})^2, & \text{for odd } n \geq 1. \end{cases}$$

References

- [1] **Behera, B. and G. K. Panda**, On the square roots of triangular numbers, *The Fibonacci Quarterly*, **37(2)** (1999), 98–105.
- [2] **Hilton, P., D. Holton and J. Pedersen**, *Fibonacci and Lucas Numbers, Ch. 3 in Mathematical Reflections in a Room with Many Mirrors*. New York, Springer–Verlag, 1997.
- [3] **Davis, P.J.**, *Circulant Matrices*, John Wiley, New York, 1979.
- [4] **Gözeri, G.K., A. Özkoç and A. Tekcan**, Some algebraic relations on balancing numbers, *Utilitas Mathematica*, **103** (2017), 217–236.
- [5] **Koshy, T.**, *Fibonacci and Lucas Numbers with Applications*, John Wiley and Sons, 2001.
- [6] **Niven, I., H. S. Zuckerman and H. L. Montgomery**, *An Introduction to the Theory of Numbers*, Fifth ed., John Wiley & Sons. Inc., New York, 1991.
- [7] **Ogilvy, C. S. and J. T. Anderson**, *Fibonacci Numbers, Ch. 11 in Excursions in Number Theory*, New York, Dover, 1988.
- [8] **Olajos, P.**, Properties of balancing, cobalancing and generalized balancing numbers, *Ann. Math. et Inform.*, **37** (2010), 125–138.

- [9] **Panda, G. K.**, Some fascinating properties of balancing numbers, *Congr. Numerantium*, **194** (2009), 185–189.
- [10] **Panda, G. K. and P. K. Ray**, Some links of balancing and cobalancing numbers with Pell and associated Pell numbers, *Bull. of Inst. of Math. Acad. Sin.*, **6(1)** (2011), 41–72.
- [11] **Panda, G. K. and P. K. Ray**, Cobalancing numbers and cobalancers, *Int. J. Math. Sci.*, **8** (2005), 1189–1200.
- [12] **Ribenboim, P.**, *My Numbers, My Friends, Popular Lectures on Number Theory*, Springer–Verlag, New York, Inc. 2000.
- [13] **Santana, S. F. and J. L. Diaz–Barrero**, Some properties of sums involving Pell numbers, *Missouri Jour. of Maths. Sci.*, **18(1)** (2006), 33–40.
- [14] **Tekcan, A. and M. Tayat**, Generalized Pell numbers, balancing numbers and binary quadratic forms, *Creative Maths. and Inform.*, **23(1)** (2014), 115–122.

A. Akin and A. Tekcan

Uludag University

Faculty of Science

Department of Mathematics

Gorukle, Bursa–Turkiye

arzuakin504@gmail.com

tekcan@uludag.edu.tr